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2. Find the value of Z 3kr243x )
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3. Use your knowledge of geometric series to write 10.135 as a ration of two
integers.
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4. Why would you not want to use IT on Ze'
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5. i( LI )isatelescoping series. Determine if the series
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6. Determine the value of hm( L : J Hint: You might be able to use \

Inn In(n+2
#4 if the series converges.
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7. A student wants to use IT on the series Z[e""" +cot(£(2k + 1))] by
k=1

defining the function f such that f(x) = —1-. Can she do that? Could she also
X

use f(x)=e " +cot(%(2x +1)).
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8. Prove 2;13“ using the integral test, series comparison test, the limit
k=1

comparison test, and the ratio test. Which was the easiest to establish and
implement? }
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9. Determine if the following series converges:
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10. Determine if the following series converges: 6"‘ = éik
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11. Determine if the following series converges:
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